2009 Paper 2 Solutions

Qu. 1

The primary methed m.s iz based on the following generic m.s.
This genenc marking scheme may be used as an equivalence guide
but only where a candidate does not use the primary method or any
altemative method shownin detail in the marking scheme.

o 55 know to differentiate

. pd  differentiate

o 55 set derivative to zero

< pd  factorise

- pd  solve forx

o8 pd  evaluate y-coordinates

. 55 know to, and justify tuming pomts
3

. ic mterpret result

Primary Method : Glve 1 mark for each -
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u. 2

The primary method m.s is based on the following generic m.s.
Thiz genenc marking scheme may be used as an equivalence guide
but cnly where a candidate does not use the primary method or any
altemative method shown in detail in the marking scheme.

. 55 substitute for g(x) in f{x)
. ic complete
. ic sub. and complete for g(x)
o 55 simplify
o pd  differentiate

pd

solve

Primary Method : Give 1 mark for each -
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u. 3

The primary method m.s is based on the following generic m.s

alternative method shown in detail in the marking scheme.

This generic marking scheme may be used as an equivalence guide
but only where a candidate does not use the primary method or any 1

Primary Method : Give 1 mark for each-

. Ff(1)=1+8+11-20=0s0 x=1is a root SeeNote 1

. know and =0 1 t
: e SR TIE Emaac IRt 4 =D +4)x+5) Stated explicitly
. ic complete quadratic factor
\ e S log,((+302+5x-4)  s/iby S
. pd  factonse fully i —— 3
5 . (x+3)(x"+5x—-4)=2
. ss use log laws ; T
. +8x" +11x—20=
o6 ss know to & convert to exponential form g * l * o 5 Stated exollcltiv h
. = = =— explic cre
7 ic  write cubicin standard form g ol GG SR P
. =1 v
of pd  solve cubic E=Lony
J ic mterpret valid solution

Qu. 4

The primary method m.s is based on the following generic m.s.
This generic marking scheme may be used as an equivalence g
but only where a candidate does not use the primary method or
alternative method shown in detail in the marking scheme.

. pd  substitute

ic find centre

. 33 use mid-pomt result for Q

. ss know to. and find gradient of radi
. ic find gradient of tangent

. ic state equation of tangent
. ic state radius

o ss know how to find centre
o ic state equation of one circle

1c state equation of the other circle

Primary Method : Give 1 mark for each-

d 5+ +(10-2)> =100
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d o (x=5)7+(y-10)> =400

40 (x+19)7 + (v +22)* =400




Qu. 5
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The primary method m.s is based on the following generic m.s.
This genenc marking scheme may be used as an equivalence guide
but only where a candidate does not use the primary method or any

alternative method shownin detail in the marking scheme.

interprets graph

knows how to find intersection

starts to solve

finds x-coordinate in the 1st quadrant
finds x-coordmnate in the 2nd quadrant
finds y-coordinates

knows how to find area

states limits

ntegrate

ntegrate

substitute liomts

evaluate area

Primary Method : Give 1 mark for each -
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The primary method m.s is based on the following generic m.s.
This generic marking scheme may be used as an equivalence guide
but only where a candidate does not use the primary method or any
alternative method shown in detail in the marking scheme.

substitute into equation
evaluate exponential expression
interpret info and substitute
convert expo. equ. to log. equ.

process

Primary Method : Give 1 mark foreach -
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Qu. 7

The primary method m.s is based on the following genernic m.s.
This generic marking scheme may be used as an equivalence guide
but only where a candidate does not use the primary method or any
alternative method shown in detail in the marking scheme.
Jdoss use distributive law
< e interpret scalar product
3 pd  processing scalar product
G e interpret perpendicularity
Y ic interpret scalar product
.5 pd  complete processing
J e interpret vectors on a 2-D diagram
8 pd  evaluate magnitude of vector sum
Y e interpret vectors on a 2-D diagram
10 pd  evaluate magnitude of vector difference

Primary Method : Give 1 mark for each -
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